. What types of strokes are Explodents ?
A) Up strokes B) Down strokes
C) Straight strokes D) Thin strokes
What is particular with strokes in shorthand, which are not written upward ?
A) Thick strokes B) Thin strokes
C) Long strokes D) Small strokes

Name the sound, which is not included in vowels ?
A) e B) a C) ow D) o

Intervening vowel means

A) Vowel occurring between two strokes
B) Vowel occurs after two strokes

C) Vowel occurs before two strokes

D) Stroke followed by a vowel

5. @nmmblﬂu‘ﬂ'hmkinadvmphrneography.

- A) Ten B) Oider Than C) Pen D) Train
6. Which decides the position of outline in shorthand ?

A) Consonants B) Circle C) Loop D) Vowel
7. Give an example for using doubling principles in advanced phraseography.

A) My dear Sir B) There are

C) They are D) Dear Sir
8. What is the sound of initial large circle in shorthand ?

A) S B) SIS C) sSw D) SES
9. Which form of outline is used in shorthand ?

A) Brief B) Long C) Small D) Large

10. What is the main feature of “Chay” in shorthand ?
A) Heavy stroke B) Large stroke
C) Up stroke D) Light and Down stroke
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11. Which is the place diphthongs sign is not marked ?
A) 1l place of the stroke B) Ill place of the stroke
C) | place of the stroke D) None

12. Which is the word included in triphones ?

A) Sense B) Since 3 C) Sing D) Science

13. Which type of “N” is used in the word “Downhill” ? '
A) Stroke N B) Hook N
C) Curve N D) Halved N

14. Which is the word included in dot ‘h’ ?

A) high B) hill C) hope D) wphill
15. Name the ‘R’ used before the stroke ‘M’.

A) Upward R B) Downward R

C) R halved D) R doubled

16. Which type of ‘L’ used after ‘N’ and ‘NG’ ?
A) Downward B) Upward C) Doubled D) Halved

| 17. Write an example for doubling principle.

A) some other B) they are C) nor D) in our
18. Which word is not included in suffixes ?

A) Paying B) Hearing

C) Compare D) Fielding
19. Write an example for advanced phraseography.

A) Leader B) Load

C) Rate of interest D) Subjective
20. Which word is not included in prefixes ?

A) Muttering B) Connection

C) Welcoming D) Recognize



25,

B0 CrOWLOS BB erey Slevm)’ @wo, @po ag)milcu cuemond

&m ?

:C} MAURERNSR 6 2103000 gDSemo
D) mocug<iaiadd 60} AU gnsemo

n
QEIWIGo BaodS anomauilad RO S age |
A) ao6y ‘a0’ i

B) @ldeaj00g0mm a6 S

C) e2aBeg0059mM ‘an’ sney

D) enflag; ‘a0’ (‘an’ endlay)
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27. eend emdenalad ewomlenemiotd osallad ‘m’ ayemo almomd
Qg)STBOMOWRIDIEMo (EH06TD @D Lyafl@onemeslad) ?
A) spso il
B) esoemilm apomm cuaymm dlaflaiad
C) cualonaflafiad
D) eeoeniimanmm cuaym dlaslaiad

28. b (EpemwoeyTiuiepas Alomo) Bey CREWIAS ag)® BINAOWIET ag) MR ?
A) 1/3 B) 2/2 C) 3/2 D) 2/3

29. @RE) aNeNBWD (@B, B) u@-cradd ag)sTBOMm oEUeSIETRTY ?
A) @pajo 620w an)esils
B) emaje auell ayesis
C) cuelotafail@d anyesils
D) @raiaquamo anyesilg '

30. qui@ensuP OSIM an)eeldd PR SOTmE a@® ?
A) @ an)e6) B) @, i an)oe)
C) ad, end anyes) D) a0, QU aO)es)

31. auddensu ag)eymum dall agememeoe ?
A) &ldeaog B) cadleqios
C) eosai @ D) cueim) BXNEEEE

32, @ELYEOMIEN AUAKM &I, § GOR agf)FAMMEMETBHNDIET ?

A) gnso waflwied B) cuelo naflaiiad
C) &l¥eajog D) samlegoesd, Sl¥eq oes0

33. eadiag PegRmIM emdaie erg (ildlenemiodd o, O QUMD ag)FIEEMEWFmEM ?
A) &l¥eajog B) caadsqog _
C) sose@mog D) eleEmos |
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34, MMMWQQMWWM@MW?

A) ‘4’ mrs@ogo B) ‘3 @pswogo
C) ‘2’ mrswoso D) ‘0’ moswoso
35. &0, 600, &6 MSEEIRA ag@’ BoIOLR wDenEIBW@SEnET ]S} @D
Dalewiudleanyma ?
A) me@Igo B) gogflasd
C) odly D) adflod]

36. agyyeriled mmmymﬁlni’ ecuend] @3l¥en 0650, someq 08350 ag)Kymm cosuidd

Ms;n‘mi’ a@@oem ?
A) ‘at’ co6u B) 'at’ eoeu
C) ‘e’ eosu D) ‘ay, ¥’ ameu

37. QuosnS® eysiod 2yeuee agwmm deilaleyss aloes agmoem ?
. - A) @ral B) aoal
: ‘puﬂm D) oaod

38. 2yMESOREMM EecleTidlasnsns @onymRgd DPBeQ ST ?
A) anemgl @emmudlal ageemidd saunm eygemo
B) agigyo salsdlego cun®yeenso ag)mm aldlawoullenemo
C) eaiddmilad @oullee araded agsiman
D) eaudmilad meulee eradom agsmenc

39. eauglaIeeraIR §E0ANEEMe MIeY ato@MAIIH agmosn ?

A) &30alqad o B) maadmy
C) meaww D) nu_qugo
40. QOB .2 YRS ag)RMBMUOD DAL YBINEM ‘T QYOO B> HlerTs QU aRE
GOEUWIET ag)LMOTME ?
A) ‘an’em6u B) ‘e’ensu
C) 's’eney D) ‘m’ensu
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41.

45.

46.

065a[060[0)e® ag)® aflwo ?
A) 10 B) 4 C)3 D) 5

. 80} anBMI] 66sejee0gd eacdlaild ary WCEXI@ eesq] O.aigyaIM

oWl M @RBHVETBRD ag)(® ?

A) 60 aymad 80 e B) 70 qymad 90 cuem

C) 80 qymad 100 cued D) 50 ymad 70 cwe
eesqleeogdled arsaleyssmioc elamiodauliom mlailenMmmamow emosn
A) Galowihd B) sal omyeaigd

C) eflcud D) ooayf afldd

& yoeozllod pssomwgoemonl mmyalelm; ®moey amudlell o.igym ellaudon

@al®

A) aligdl eoodd eflcud

B) ecudlm eeeid aqymy eflcud
C) emosnd

D) algad enod

06sq] e.aigymainfisaidd ae aoesin mesiuewls addeflaild CAPS agm;
IS OMIT

A) cuoss) aywiamom)o @einad eaigdlch mrslenie

B) @@ apwumomyo #dallgad eeigdlad moslenie

C) anesiled apapesite H:0figm eaigdid erslene

D) paewommyag)

@6oos(pdadl ale@oufleniemiord ayriiege allamilego
A) eoe00 eqym aflmo aflsemo

B) @eng eqym’ aflmo aflsemo

C) eqyv allsmy@

D) paue@amiag)
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47. @peem@Hs MOdm aideneo 6.IGRMIM EHH0a Hald@IUSlaanamoR maiim)
@Udato
A) eqyav aflseye’ B) e} equav aflsemo
C) meng eqymy aflsemo D) aymy equav aflsemo

48. e Midenod e eesqe] .21GEMIIB aleoadre 6Se] H.0I1GRMM
emalles ?
A) pemaaiim) ewaso B) momanmmfim ewatio
C) aflgafles) ayml D) afigafles’ swatto

49. e} @dAL 8e3PUlE: GO eesq] 6.21GREMIIR Glimad @rLEfiadfd

nomo
A) @earfled cee aodaflemos eaidory
B) sxorilen spsa) aodeflemos’ e.audory
C) aanflon cueiay aodefiailad e

' o ' B) sadlany®d ecigd
C) wauemoad oaigd D) eaygemad erigd

51. eodi® (flewdlom e:oersmowl snimuligfleanma’
A) enflenpad eruod B) alidfledd afld
C) esaucd (oaf D) clgflaw eawocs

52. ﬂma&au;&@n@ﬂmmm?
A) 4 B) 5 C) 3 D) 6

53, 02@9g0 6659 Jee0gd @ emIodUM® 6m agym ERseETeR @oqd el

&SN BOHHOO
A) erd B) i C) em D) &3

A -5
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54,

55.

57.

58.

60.

Budl ayeeflad oeflegual’ satogy ag)m easqe] e.a1gpmMe
A) qyodldd cuaiomy B) oyl eosomd
C) aav @il D) moe cusimm

005 ©.21gpemIoid ey anssia aslaewlgomd pegudlenmal

A) #00]10@ eeIgd apsee: B) ooelg eoses

C) cuods) @flcuoseies - D) spaue@ommyagy

06Sq] .21gREMIOD ESYE alonOad @ReMMA@MEIMEes aflamo
A) I B) # C) D) W\
allades:oufla aydepn @jalo

A) salogy soadangy mmud B) (@ gadangy moud

C) saJoguad soadawegy mauid D) eatoguad gnadaeruiogy mmud

8@} 8036 UIlE: SOldd Dalswouflenm esoogfloadfdd egom
A) @yeagd el

B) wenyy senflaufiadien

C) ayeudmy earvafiedlel

D) @sayf enociomanas)

@RURIR a flamaniion srwato aflesens sqymy

A) e B) oend

C) ayonr D) paewomagy

2EIWIB0 06SOOO[ATD 1D GQYMY BB:0S)SNEMIOD & j0c0e
A) 8} eqym’ nsemmes aflemymmy

B) ea equoy’ cueie@mes) aflsomymmy

C) @moa equav’ snseames) aflemynmy

D) @oe o’ cueis@mes) aileomymy
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61. Artificial Intelligence is associated with
A) Fifth generation B) Sixth generation
C) Fourth generation D) Third generation

62. EEPROM stands for
A) Easily Erasable Programmable Read Only Memory
B) Electrically Erasable Programmable Read Only Memory
| C) Eliminating Electronically Programmable Read Only Memory
l D) Easily Editable Programme on Read Only Memory

63. Which is not a computer classification ?
A) Mini Computers
B) Super Computers

- C) Mainframe Computers

[ T—
5 R R R
%

uter understands and execute directly without
A) Assembly language B) Basic
C) Machine language D) C++

65. A number of letters that appears little below the normal text is called
A) Superscript B) Subscript
C) Super text D) Top text

66. By pressing F12, which of the following will happen ?
A) Save as dialogue box will appear
B) Open dialogue box will appear
C) Save dialogue box will appear
D) Close dialogue box will appear
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67. In which change case option is used for capitalise the first letter of each word in the
selection ?

A) Upper Case

B) Sentence Case
C) Title Case

D) Toggle Case

68. Which of the following word processor come first ?
A) Word Processing B) Word Star
C) DOS D) COBOL

69. In Excel, the intersection of row and column is known as
A) Cell
B) Workbook
C) Symbol
D) Shapes

70. Which one of the following is not a valid data type in Excel ?
A) General B) Number
C) Data D) Character

71. MS Excel 2007, which menu displays sort and filter option ?
A) Home B) Formula
C) Data D) Review

72. Which one is horizontal alignment ?
A) Left - B) Centre
C) Right D) All of these

73. In MS Power Point, the slide orientation button can be found in the
A) Animation B) Design
C) View D) Home
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- The file extension of a power point presentation is

A) xlis B) .bmp
C) .ppt D) .doc

75. Slide sorter can be accessed from which menu ?
A) View B) Edit
C) File D) Insert

76. %ichopﬁonmnbeusadtosatMﬁmHmafmsﬂdashammbn?
A) Slide Time Lines
B) Slide Timer
C) Rehearsal

D) Slide show setup

= B) URL
el o D) ULR
ety e
78. Which is the slowest internet connection service ?
A) Landline B) Dial up service
C) Digital subscriber line D) Cable modem

. .7’0. Junk email is also called
A) Spoof B) Spam
C) Copple crumbs D) Sniffer Script

80. Which of the following is required to create an HTML document ?
A) Search engine
B) Internet
C) Browser
D) Text Editor

< R
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81.

82.

83.

87.

89.

90.

“Cotton and Khadi are comfortable dress materials.” The word underlined in the
sentence is :

A) Adverb B) Pronoun C) Noun D) Verb
On the way to airport we met one-eyed man. (Select the correct
missing article.) :
A) the B) an C) a D) is
“What is your occupation ?” The sentence is
A) Exclamatory sentence B) Interrogative sentence
C) Imperative sentence D) Declarative sentence
. Add the correct question tag :
Let's go to a drama, ?
A) shall we B) dowe C) don't we D) had we

Choose the correct reported sentence :

“Where do you work"- The policeman asked.

A) The policeman enquired where | worked.

B) The policeman enquired where do | worked.
C) The policeman enquired where did | worked.
D) The policeman enquired where | have worked.

Find out the GERUND in the following sentence :
Swimming is her favourite hobby.
A) Hobby B) Swimming C) Favourite D) Her

Change into passive voice :
The attender opened the door.

A) The attender had opened the door. B) The door had opened by the attender.
C) The door was opened by the attender. D) The attender was opening the door.

Select the correct phrase preposition :

The brave soldier died fighting _ his country.

A) because of B) in case of C) instead of D) on behalf of
Choose the correct phrasal verb :

| can't his behaviour.

A) put on to B) put up with C) put out D) put off
Complete the sentence :

If you had attended the coaching,
A) you would have been win the match  B) you will win the match
C) you can win the match D) you could win the match

14-
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91. _amg, eg;0e6ilad muawo 11.40 @REYEMI0R G:gposiailed @owilexg isflenflosmimmsiied
@06il@aM awo ag)® ?

A) 11.40 B) 11.04 C) 12.20 D) 04.11

92. BAT agym cuoss) 85 agymie BALL agyma@) 18 agymio ag)fi@moeassidd WICKET

ag)(M CUISS) ag)sTROM agf)Fimdo ?

A) 91 B) 19 C) 81 D) 18
83. 4,7, 13, 25, , 97 ag)om ewyeriiaiad allgieatow Moy aR® ?

A) 48 B) 53 C) 43 D) 49

94. 4 cm QUIMES B} MAIGOEOSWLOS MBBBIN MFIAUM 210Wo afvdl 1 cm
QUaes 6.2101w Ma.aImyEE05ea0w aydlenmm. ageslal aloweadmmydlgpom
ag)® 62I5l@ MO 2IBPH6G5E:0D Hensoeio ?

A) 24 B) 8 C) 12 D)0

95. mocvu@nflad 40 X Ao @es.a] 1% cudauesficd aldenoaymm alog 1 Adatio OB:06ME
afldeen0md aome ag)® aal allme arsensmo ?
A) 80 B) 55¢F C) 50X D) 45%

8. Enamgs

oeIBEad o Yo @Al aleyafia)e anmio caldomod 199
SR ag® ?
B) 76

C) 74 D) 72

97. aa) cudlald @emy dldenma ayailad alimie 8-ccamio allorlad aflomye
' 37-200@m@a6m. ag)sslad @y A ag)@® ealoienzoseslo ?
\ A) 46 B) 45 C) 44 D) 43

% 98. @mpmend afidlad aflomie 4 km emen emesanog msmy. @ealles aflimie snse@mog -
widlerr) 6 km apermog msamy. @eadles ailmye cuelemmog aildlervm) 4 km ayemmog
G | msmy. afiglad aflome g8q o mRAKEM ag)(@® GREeRIWET ?

| A) 10 km B) 12 km C) 8 km D) 14 km

99. 48-12)+4+6+2x3ag™ ?
A) 36 B) 10 C) 18 D) 0

100. BQWIONM LOENBME)E:.
A) 2 B) 3 C) 4 D) 5
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